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1. Lana earns £2.34 per day for dog walking.

In November she did 9 days of dog walking.

Lana wants to buy a gift box costing £19.99

If Lana saves all her dog walking money from November will she have enough money

for the gift box?
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2. Aria has 8 biscuits.

She says “These eight biscuits weigh more than my apple”.

Each biscuit weighs 18 grams.

Aria’s apple weighs 126 grams.

Is Aria correct?
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3. Esha preserves cherries in 8 identical jars.

Each jar is 13 cm wide.

Esha has of a shelf 97 cm wide.

Can name fit all 8 jars side by side on the shelf?

3. . . . . . . . . . . . . .

cbna secretMULTIsigns (6) SRS Learning Limited



teach-learn secretMULTIsigns (6) timelypractice.com

4. Poppy wants to buy 6 bags of compost costing £3.40 each.

She has a £20 note.

Does Poppy have enough money?
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Answers

1. yes

workings out: 9 × 2.34 (= 21.06 M1), 19.99 < 21.06

2. yes

workings out: 8 × 18 (= 144 M1), 144 > 126 and correct decision

3. no

workings out: 8 × 13 (= 104 M1), 100 < 97 and correct decision

4. no

workings out: 6 × 3.40 (= 20.40 M1), 20 < 20.40
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